


MATHEMATICS By Pradeep Sir

Q. 1) An 11-digit number 7823326867X is

L — loat @)?{z‘
| divisible by 18. What the value of X?
3lq > @izn*ghm e :
- 0 TP 11 BT JSAT 7823326867X, 18 AfAUT
h = Leat 2.0ligd 21 X BT HIE T 8?2
8 = leat 2ebigit (a) 6
o — leat udiy (b) 4 \7[
(c) 8
¢ 5 Lt s (o

ol il D veena e
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Q. 2) Which of the following numbers in

B divisible by 3?

N Frafafaa § #19-0 e 36 A RAvrsa 22
/\ (a) 840 > 20 — >

I x4 (b) 1542

(c) 96272 >




o2+ = (atb)(ab+rx al)
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Q. 3) Simplify the given expression.

feu T TS BT WATHIU B |
2 @ L (o

2

—®

432 X 432 + 247 X 247 — 432 X 247

432 X 432 X 432 + 247 X 247 x 247

@150 ® @ ©'® @

(b) 1/185 QKQ = GL&

(d) 1/450
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\ Q. 4) While solving a problem, Suhas by
mistake took a number as the which was not the

original factor. was 10% less than He also mistakenly
took a number as the denominator which is 20% less
than the original denominator. Was. If the correct
quotient of the original question of division was 24 and
the remainder was 0, assuming that its There is no error
in calculation, what is the quotient obtained by Suhas?

~ UP UY TG Bd 9HYG, Yo A Tadl § U &
U H TP S& @ o & ga UG |/ 10% 9 4t 391
Tl @ UIS® & 0 § T g Ut @ ot ot ga voie |
20% ®H A1 TfS YT & J& Uy &1 TS HITHT 24 AT 3R
UGS 0 YT, A I8 WA g¢ 6 Iw@! Mo A B8 qfe A8

geTy 2 feaar yrmee ura feuwar
(b)21.6

(c) 26.4
(d) 30
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laoo m |oe RA
CP sSP
q:ﬁ*a hf&/ﬁa
%Y«go = Y. Losg

_’-—-X]OQ = 6 67,

;S

3 (- :)_‘/.

Q. 5) A grocer claims that he is selling sugar at
Rs. 48/kg, which costs him ?50/kg, but he is
giving 900 g instead of 1000 g. What will be

the approximate percentage profit?

U® v @t &1 grar 8% a8 Rs. 48/kg W
A+t 99 381 8, SS9t F19d Rs. 50/kg 8, AP
g8 1000 UTH & TSI 900 ATH ¢ 8T 81 TIHT
U= Ty &1 gRI?

(a) 7.5% (b) 5.5%
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cP me
(loo-—tb‘l) ( Ivo+Pp?)
9o/ el

Q. 6) 6. A dealer purchased a washing machine

for Rs. 9,000. He allows a discount of 10% on
its marked price and still gains 10%. Find the

marked price of the machine.

UP S A Rs. 9,000 H TS FIRAT A=A WS |
98 TUS Sifhd HeU W 10% DI B adl & 3R
fiby Wt 10% &1 a1y 3ifofa F=ar 81 a=fi= &1
3ifda e Jrd PR

(b) Rs=12,000~
(c)Rs-13;600—  (d) Rs. 10,000 ~
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Q. 7) How much simple interest will Rs. 6,000

Y earn in 21 months at 8% per annum?

_ ( +

ST = PXRRT_ [oppr8ra+ 8% TMU®D G A 21 HIE H Rs. 6,000 W fHaar
00
| AR grurr s Sifdfa g 2

P - '007\514 z
T RXT (a) Rs. 750
5 8o
R - \0ORST — (b) Rs. 880
PRT (¢) Rs. 620

T = looxse (d) Rs. 840

PR
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A (e+18)
| 03 - 2¢ 418
A (& +18
do& _ Bw
A RE
P\: 8‘-‘2.
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Q. 8) A varies directly as A(B +18) and A = 108
when B = 36. Find the value of A when B = 68.
A (B + 18) & ATHHAUII & 3R B = 36 &
W, A = 108 BIaT 81 A T HIF FTd HIfol¢ od B
= 68 B

(a) 75

(b) 86

(c) 127
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f"‘" 'J>><T = MX PJ‘E Q. 9) (N + 18) persons, each working for 7.5
Wi hours a day, can complete 48% of a work in 20
days. (N + 12) persons can complete the

remaining work in 30 days, if each of them

5 5 < 13  works for 6.5 hours per day. Determine the
(NH&)M&;‘-‘H ('J‘*'Z-)Y\%Bx“ value of N.

(N + 18) fqd forgd & s ﬁFHSH%
—%‘QJZ M& 1 I TETE, zoﬁqﬁw%?ﬂ?
LK o Al 3°ﬁ§q ﬁgamf
2 [£4 6.5
(W +1ayes = 6 (V) HIAT 2| N BT 919 1 HI
-Sll.‘.ﬂ_?-c@_ﬂ'\'té m (b) 16

(c) 20 (d) 22

N <% [
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Q. 10) If Mohit can complete 2/3™ of a work in
24 days, then in how many many days can

1/9* the work be completed by him?

gfe wifga fHlt &m &1 2/3 UM 24 fRAT H B
H&Hdl g, df 98 39 BT &1 1/9 U fra fR=i A
H?

ER:

(c) 6

(d)5
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QA = 2hrs

B - ¢ hrs

L — 2
_ X X2
Y hd e

Q. 11). It takes A and B, 3 and 6 hours,
respectively, to complete a certain work. If
they work on the alternate hour. How long will
it take them to accomplish the task?

o fAfda o1 & RT3 7 A 3R B F HHW:
3aﬁ?6ﬂ%m§|nm% [dY 9¢ U &1H
HId ¢ d 3¢ P TR # feaar gwg

(a) 3 hours

(c) 2 hours

(d) 4-5 hours
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S Q. 12) On day one, with speed v, R covers a
distance x, in t time. On the next day, he
covers a distance 2.5x in 0.75t time. What is
his speed the next day?

s 2. e 1, R Ugd fa1, or@r & wwg # x gdt a9 & 2|
T 3Ta f&H, 98 0, 75t WA | 2.5x gRIt 99 BT ¢ |
! garsy & srmat fe= Suat are fast 82
(a)3.5v

(c)45v
(d) 5/3v
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Q. 13) In a 1170 m race, Raman reaches the
final point in 65 seconds and Mohan reaches
the final point in 90 seconds. By how much

distance does Raman beat Mohan?

1170 M &1 s &, I 65 Vs H sifaw fig w
Ugadl ¢ 3R Higd 90 9%s ¥ difaw fig
UgTdT 8 | T, Hig &) fha gft @ e €2

(b) 300 m
(c)375 m
(d) 350 m
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AvgSpeed = [otal 2is{amce Q. 14) A man drives his car for 24 km at a
(ot T/ru speed of 48 km/h, and for the next 1.5 hours
he drives at speed of 80 km/h. Find his

average speed (in km/h) for the entire journey.

TP AfGd T PR DI 24 fHH 95 48 kmy/h

2= Y + |'sxBo

N # a1 | FaTar 2, o o 1.5 Hel ¥ fiw a8
gf}( 572k l 80 km/h @t ITd | TaTaT 81 T AT & forg
= "’3( IS A T (km/h H) FTd B

@) 64

(d) 75 (c) 68
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2 - !
- -7'7_;_ ( t2)(e-L) Q.15) If (x + ) = 2VZ and x > 1 what is the
= (=5 L)/x2
ik ( )( value of (x"—-%)"
¢ 4 _ 341
x—xc—wz:)(z‘—ia) AR (x+7) = 22 M x> 18, (0 - ) 9
loJax 1y HH T 8R? x+Ll-9(z x+i=als
);-—)-= ‘@'—"{
Y‘—'L’ > |\-'OS_'i n x‘$+"i'&= J
X —=/ (b) 116v2 SRy
3
© 144V (45) > &
8)(.1{{3/\23\1 B
4 (d) 128V2 Yt
3 e fa
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Q. 16) Simplify the following

frafafEa #) awa Fifce)
3a+b a-—3b
2 3
(a) 5(a;3b)
(b) ==
(c) 7(a-|6~3b)

a+3b
6

(d)

+

2b
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Simx+cCosx

)
 AMa-Cosx X
Shx . 3
CoSx 3 Cotx=
U+s G
a=-b d
I s
,& c-4d
g
| + = -
-2 Yy
Ysq

inx— 2 14cot?
Q. 17) If === = Z then the value of ——=
sinx+cosx & 1—-cot? x

sinx-cosx 2 1+cot? x
uﬁ Sinx+COSX E%' a} 1—cot? x PT HIA I
PIfog|
—@225°  IMX_ fanx
s
©375 O _(6t*
d) 5 2; Stqx
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Q. 18) Find the value of (sin8 + cos 8)?
(sin@ — cos 6)°.

(sin@ + cos 8)? + (sin @ — cos )% BT A JATd
1

(a) 4
(b)0

(d) 1
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A) +( Cosh
| =SiaA rromal =Y

| /

+ —

Cosh
| -SmA | +S9f

| +5\ fy+|-§y§€>

CoS= R\

A _

_-

Cbgq
Cost =7

—
-

\
2

Q. 19) If( o ) +( o ) = 4, then will be the

1-sin A 14sinA

value of A? (0° < 8 <90°)

(a) 90°
) 45° (A+b)(a-b) = aZ s>

Sintoscaste

(d) 30°

6o

By Pradeep Sir




MATHEMATICS By Pradeep Sir

PBRPA = PO x pc

= 200
loo G
By 280= PRI

P:p:lOO

Q. 20) Two chords of a circle, AB and CD, meet outside
the circle at the point P . If mAP = 200 mm, mAB = 120
mm and mCP = 160 mm, what is the length of CD ?
fdt gu & Gt oftard AB 3R CD g9 & amer feddt fig w°
% firarat €1 af@ mAP = 200 mm, mAB = 120 mm 3R mCP =
160 mm ﬁ,a’rt‘ﬁﬁmma&ﬁm

(b) 75 mm

(d) 150 mm
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Q. 21) Two circles of same radius 6 cm,
intersect each otherat Pand Q. If PQ = 10 cm,

then what is the distance between the centres

of the two circles?

T frsar 6 1 a1et 31 99 U g Bl fag P
3R Q W ufadfed #3a 81 afe PQ = 10 cm, @
341 gl & Hal & ot fra-t gt 82

(a) 10 cm (b) 8 cm
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Q. 22) Find the length of the arc of the sector

of a circle of diameter 7 cm with a central
angle of 108°. [Use n = 22/7]

7 cmmaﬁwqa%iﬁmmaﬂmaﬁ
waTg F1d Piforg fora®sT I BT 108° FT

(c) 13.2cm
(d) 11.2 cm
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Q. 23) A conical tent has a radius of 7 m and a
vertical height of 24 m. How many full bags of
rice can be emptied in it if the space occupied

by the rice in each bag is 2 m®?

TP YR dg @ B 7 @ iR FafwRr
Hars 24 M 21 =9H 9199 & fHaa I @rent
fou &1 g@a §, gt vde I § I19d gRT O’

W/l}(;tl- ‘TUTWF'TZm’%?

(c) 716 (d) 650
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Q. 24) Study the given pie-chart and answer the question
that follows. The pie&chart displays the percentage of
fruits sold i;llég) by a fruit seller in one month.

few e $T AT ifore AR A1 2w e uy &1
I difeel
Urs-91¢ U HelHd H U Bd fdsbdl gRT a9 U Bl &I

wfazra ([ #) weffa svar 21

If the total fruits sold by a fruit seller in one month was

50,000 kg, find the approUimate difference of the

quantity (in kg) of pomegranates and that of berries.

?mﬁmmwuﬁﬁﬁmﬁwsomoag
dl MR R & @t 7 (fFw #) &1 aTyT IR JId

l
(a) 11,480 (b) 13,535
(c) 21,408 (d) 12,465
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Q. 25) The following figure shows the scores

of students in three tests organised by a
coaching institution. Who scored the best on

average?

a9 et # faunfdal & siwiet Asfua
CIGIRA M 3P I 3P 82

(a) D (b) C

(c) E (d) B




